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                     Name:…………………………………………………….      Date: ……………………

Photosynthesis Worksheet 
This worksheet accompanies Leaves.ppt and Photosynthesis.ppt
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1. 
Label this diagram of a leaf:











     1. …………………………………………









     2. …………………………………………










     3. …………………………………………










     4. …………………………………………










     5. …………………………………………









     6. …………………………………………



2. 
Leaves are adapted for efficient photosynthesis. Fill in the gaps in the following paragraph using the words in the box.

Leaves have a ………………..…. surface area for absorption of light and they are also …………………. which speeds up the exchange of gases. Gases enter through special holes called ………………….. These holes are opened and closed by …………………. cells. Once gases are in the leaf, they can diffuse easily because there are air spaces in the ………………… mesophyll layer. The cell ………………… of leaf cells allow gases and water to pass freely in and out of the cell.
Some leaf cells contain a pigment called ………………… which absorbs light energy. 
This pigment, and the enzymes for photosynthesis, are found in special structures called …………………. Most of these are found in the ………………… layer at the top of the leaf. The ………………… is transparent so that light can pass easily through to the chloroplasts.


3. Photosynthesis is the process plants use to make their own food. 

a) 
Complete these equations for photosynthesis. 
The symbol equation will need to be balanced.






           light

Water   +   …………………   



    
glucose   +     …………………  





           light

…… H2O   +   6 ……  



    

C6H12O6  +   6 ……  
b)
Which substance is considered to be a waste product produced 
during photosynthesis?

…......................................................................................................................................
4. 
A farmer wants to increase the rate of photosynthesis in his tomato plants in order to produce a greater yield. He decides to grow his plants in seven greenhouses so he can vary the temperature and the amount of carbon dioxide in each greenhouse. 
All other factors, including light, soil, water and number of plants, are the same in each greenhouse. The results of his investigations are shown in the table below.

	Greenhouse
	Amount of carbon dioxide in air (%)
	Temperature (°C)
	Yield (kg)

	A
	0.04
	20
	5

	B
	0.2
	20
	10

	C
	0.5
	20
	14

	D
	1
	20
	20

	E
	2
	20
	19

	F
	2
	30
	36

	G
	2
	40
	51


a)
Explain the difference in yield between greenhouses A, B, C and D.

……………………………………………………………………………………………………………
……………………………………………………………………………………………………………
……………………………………………………………………………………………………………

b)
Explain the difference in results between greenhouses E, F and G.

……………………………………………………………………………………………………………
……………………………………………………………………………………………………………
……………………………………………………………………………………………………………

c)
Suggest a way in which the farmer may be able to increase his yield of tomatoes beyond that achieved in greenhouse G.

……………………………………………………………………………………………………………
……………………………………………………………………………………………………………
5. 
a)
Which of these statements are true and which are false? 



Write “true” or “false” in the boxes.

	Plants do not respire.
	

	At night plants take in oxygen and give out 
carbon dioxide.
	

	In the daytime plants take in carbon dioxide and give out oxygen.
	

	Plants do not respire in the daytime, they photosynthesize.
	

	Photosynthesis makes energy available to 
food chains.
	

	Variegated leaves have areas with no epidermis.
	


b)
At night plants take in oxygen and give out carbon dioxide and in the daytime they take in carbon dioxide and give out oxygen. Explain why.

……………………………………………………………………………………………………………
……………………………………………………………………………………………………………
……………………………………………………………………………………………………………
……………………………………………………………………………………………………………
…………………………………………………………………………………………………………

6. For each of these sentences, cross out one incorrect word and write the correct word. 
a) Plant organs include stems, roots and hearts. 



………………………
b) The xylem and capillaries are found in the vascular bundle. 

………………………
c) Water enters a plant through cells in the leaves. 


………………………
d) Chloroplast cells open and close stomata.



………………………
a) Water, light, oxygen and carbon dioxide can act as limiting factors in photosynthesis.
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membranes		palisade		cuticle


spongy		guard		chloroplasts		stomata


chlorophyll		thin 		large
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